6th International IFS and Contemporary Mathematics Conference June, 07-10, 2019 Mersin Turkey



CONFERENCE PROCEEDING BOOK

EDITOR ASSOC. PROF. DR. Gökhan ÇUVALCIOĞLU

CONFERENCE PROCEEDING BOOK 6th International IFS and Contemporary Mathematics Conference June, 07-10, 2019 Mersin Turkey



PREFACE

We are very pleased to introduce the abstracts of the 6th International IFS and Contemporary Mathematics Conference (IFSCOM2019).

As previous conferences, the theme was the link between the Mathematics by many valued logics and its applications.

In this context, there is a need to discuss the relationships and interactions between many valued logics and contemporary mathematics.

Finally, in the previous conference, it made successful activities to communicate with scientists working in similar fields and relations between the different disciplines.

This conference has papers in different areas; multi-valued logic, geometry, algebra, applied mathematics, theory of fuzzy sets, intuitionistic fuzzy set theory, mathematical physics, mathematics applications, etc.

Thank you to all paticipants scientists offering the most significant contribution to this conference.

Thank you to Scientific Committee Members, Referee Committee Members, Local Committee Members, University Administrators, Mersin University Mathematic Department.

CHAIR Assoc, Prof. GÖKHAN CUVALCIOĞLU

www.ifscom.com i

INVITED SPEAKERS

Krassimir T. Atanassov (BG) Ioannis P. Stavroulakis (GR) Zhanat Kh. Zhunussova (KZ) Vildan Çetkin (TR) Ali Özkurt (TR)

www.ifscom.com

SCIENTIFIC COMMITTEE

Ali Arslan Özkurt (TR)

Ali Çevik (TR)

Bijan Davvaz (TR)

Erol Yaşar *(TR)*

Evadokia Sotirova (BG)

Fahreddin Abdullayev (TR)

Fatih Kutlu (TR)

Hamza Menken (TR)

Hanlar Reşidoğlu (TR)

Hüseyin Yıldırım (TR)

İlhan Dağadur *(TR)*

İlknur Yeşilce (TR)

Janusz Kacprzyk (PL)

Kenan Söğüt *(TR)*

Krassimir Atanassov(BG)

Lois Aime Fono (CM)

Madhumangal Pal (IN)

Mehmet Citil (TR)

Mehmet Küçükaslan (TR)

Murat Güzeltepe (TR)

Naime Demirtaș (TR)

Nurcan Bilgili Güngör (TR)

Oktay Aydoğdu (TR)

Orkun Coskuntuncel (TR)

Oscar Castillo (MX)

Özgür Mızrak (TR)

Panagiotis Chountas (UK)

Piotr Nowak (PL)

Paramajit Kumar (IN)

Said Melliani (MA)

Selcen Yüksel Perktaş (TR)

Sertaç Göktaş (TR)

Sotir Sotirov (BG)

Şemsi Eken Meriç (TR)

Şükran Konca (TR)

Taekyun Kim (KR)

Ugur Değer (TR)

Ümit Deniz (TR)

Vassia Atanassova (BG)

Vildan Çetkin (TR)

www.ifscom.com

REFEREE COMMITTEE

Krassimir T. Atanassov Oscar Castillo Gökhan Çuvalcıoğlu Ekrem Kadıoğlu Mehmet Küçükaslan Said Melliani Madhumangal Pal Hanlar Reşidoğlu Sotir Sotirov Hüseyin Yıldırım

www.ifscom.com iv

LOCAL ORGANIZING COMMITTEE

Volkan Ala Arif Bal Özge Çolakoğlu Havare Emine Demirbaş Şeyda Sezgek Feride Tuğrul Gül Tümen Halil İbrahim Yoldaş

www.ifscom.com

CONTENTS

PREFACE	i
INVITED SPEAKERS	ii
SCIENTIFIC COMMITTEE	iii
REFEREE COMMITTEE	iv
LOCAL ORGANIZING COMMITTEE	v
Papers, Publishing as abstract	XXX
Papers, sending Journal of Universal Mathematics	XXX
Paners sanding Springer Rook	VVV

www.ifscom.com vi

6TH IFS AND CONTEMPORARY MATHEMATICS CONFERENCE June, 07-10, 2019, Mersin, Turkey

pp: 42-49

ISBN:978-605-68670-2-6

SURFACE TO EXACT SOLUTION OF NONLINEAR SCHRODINGER EQUATION

ZH.KH. ZHUNUSSOVA, L.KH. ZHUNUSSOVA, AND K.A. DOSMAGULOVA

ABSTRACT. Heisenberg ferromagnetic equation is considered in (1+1)-, (2+1)dimensions. Surface with appropriate coefficients of the first fundamental form is found for regular onesolitonic solution of the nonlinear Schrodinger equation with gravity which is Lakshmanan equivalence to Heisenberg ferromagnetic equation.

1. Introduction

Nonlinear models describing different physical phenomena can be solved by inverse scattering method [1]-[6]. One of the well-known nonlinear models is Heisenberg ferromagnetic model

$$\mathbf{S}_t = \mathbf{S} \times \mathbf{S}_{xx},$$

where \times is vector product, $\mathbf{S} = (S_1, S_2, S_3), \mathbf{S} = S_1^2 + S_2^2 + S_3^2 = 1$. Lakshmanan established, that the model (1) at $\mathbf{S}^2 = +1$ is equivalent in the geometrical sense to nonlinear Schrodinger equation which is crucial for physical applications

$$i\psi_t + \psi_{xx} + 2\beta |\psi|^2 \psi = 0,$$

where $\beta = +1$, ψ is complex function. This equivalence is called by Lakshmanan equivalence. We note, that Lakshmanan equivalence is valid both for integrable and for nonintegrable nonlinear differential equations, and by definition its applicability domain is limited by establishing an equivalence between a spin system and nonlinear differential equation, for example Schrodinger type. Moreover, for integrable nonlinear differential equation Lakshmanan equivalence does not imply knowledge of Lax representation of considered nonlinear differential equations.

Now some generalizations of the model (1) in (2+1)-dimensions are known. For example, in [5] a generalized Heisenberg Ferromagnetic model is considered

$$\mathbf{S}_t = (\mathbf{S} \times \mathbf{S}_y + u\mathbf{S})_x,$$

$$(1.4) u_x = -(\mathbf{S}, (\mathbf{S}_x \times \mathbf{S}_y)),$$

Date: xxxx a, 2019, accepted yyyy b, 2019.

2000 Mathematics Subject Classification. Primary 35J10, 35Q51; Secondary 34A34, 37K40. Key words and phrases. nonlinear equation, immersion, surface, solitonic solution.

where **S** is spin vector, $S_1^2 + S_2^2 + S_3^2 = 1$, \times is vector product, u is a scalar function. We identify the spin vector **S** and vector \mathbf{r}_x according to [2]

$$S \equiv r_x$$
.

Then (3a), (3b) take the form

$$\mathbf{r}_{xt} = (\mathbf{r}_x \times \mathbf{r}_{xy} + u\mathbf{r}_x)_x$$

 $u_x = -(\mathbf{r}_x, (\mathbf{r}_{xx} \times \mathbf{r}_{xy})).$

Surface corresponding to one solitonic solution of the model (1) is found, and the result is formulated and proved in the theorem [5] below. At first we present the one-soliton solution of the equation (3a), (3b) [2],

$$S_{3}(x,y,t) = 1 - \frac{2\eta^{2}}{\eta^{2} + \xi^{2}} sech^{2}(\chi_{1R}),$$

$$S^{+}(x,y,t) = \frac{2\eta}{\eta^{2} + \xi^{2}} [i\xi - \eta th(\chi_{1R})] sech(\chi_{1R}),$$

$$\chi_{1} = \chi_{1R} + i\chi_{1I}, \quad \lambda_{1} = \eta + i\xi,$$

$$m_{1} = m_{1R}(\rho) + im_{1I}(\rho), \quad m_{j}(y,t) = m_{j}(\rho),$$

$$\chi_{1R} = \eta x + m_{1R}(\rho) + c_{1R}, \quad \rho = y + i\lambda_{j}t,$$

$$\chi_{1I} = \xi x + m_{II}(\rho) + c_{II}, c = \ln(2\eta/\lambda_{1}^{*}),$$

$$m_{1R}(\rho) = Re[m_{1}(\rho)], \quad m_{II}(\rho) = Im[m_{1}(\rho)],$$

which we use in the following theorem.

Theorem 1.1. Main Theorem. One-soliton solution of the spin system (3a)-(3b) can be represented as components of the vector \mathbf{r}_x , where $r_1 = \frac{2\eta}{(\eta^2 + \xi^2)ch\chi_{1R}} + c_1, r_2 = \frac{2\xi}{\eta^2 + \xi^2} \operatorname{arctg}(sh\chi_{1R}) + c_2, r_3 = x - \frac{2\eta}{\eta^2 + \xi^2} th\chi_{1R} + c_3$, where c_1, c_2, c_3 are constants. Solution of the form \mathbf{r}_x corresponds to the surface with the following coefficients of the first and second fundamental forms

$$E = 1, \quad G = \frac{4m_{1Ry}^2}{(\eta^2 + \xi^2)ch^2\chi_{1R}},$$

$$F = \frac{2\eta m_{1Ry}}{(\eta^2 + \xi^2)ch^2\chi_{1R}}, \quad L = \frac{4\eta^3\xi m_{1Ry}}{\sqrt{g}(\eta^2 + \xi^2)^2ch^4\chi_{1R}},$$

$$M = \frac{4\eta^2\xi m_{1Ry}^2}{\sqrt{g}(\eta^2 + \xi^2)^2ch^4\chi_{1R}}, \quad N = \frac{4\eta\xi m_{1Ry}^3}{\sqrt{g}(\eta^2 + \xi^2)^2ch^4\chi_{1R}}.$$

2. Soliton surface

In this work we consider soliton immersion in Fokas-Gelfand sense [3]. In the modern literature the notion immersion is widely expanded and related not only to the soliton theory. It is a transition from sophisticated origin problem to some simple problem.

According to the work of Fokas-Gelfand [3] we present the description of the soliton immersion. In (1+1)-dimension the nonlinear differential equations are given in the form of zero curvature condition

$$U_t - V_x + [U, V] = 0,$$

where [U, V] = UV - VU, the matrix U is prescribed, and matrix V is expressed in the terms of elements of matrix U. Such nonlinear differential equations are compatibility condition of the linear systems

$$\phi_x = U\phi, \phi_t = V\phi.$$

In this case there exists a surface with immersion function P(x,t) defined by formulas $\frac{\partial P}{\partial x} = \phi^{-1}X\phi$, $\frac{\partial P}{\partial t} = \phi^{-1}Y\phi$. The surface defined by P(x,t) is identical to the surface in three-dimensional space defined by coordinates $x_j = P_j(x,t)$, j = 1,2,3. Frame on the surface is given by triple [3]

$$\frac{\partial P}{\partial r} = \phi^{-1} X \phi, \quad \frac{\partial P}{\partial t} = \phi^{-1} Y \phi, \quad N = \phi^{-1} J \phi,$$

where $J = \frac{[X,Y]}{|[X,Y]|}$, $|X| = \sqrt{\langle X,X \rangle}$. Here by definition

$$< X,Y> = -\frac{1}{2}tr(XY),$$

where X, Y are some matrixes. The first and second fundamental forms in the Fokas-Gelfand sense are given as

$$I = \langle X, X \rangle dx^2 + 2 \langle X, Y \rangle dxdt + \langle Y, Y \rangle dt^2$$

$$(2.1) II = <\frac{\partial X}{\partial x} + [X, U], J > dx^2 + 2 < \frac{\partial X}{\partial t} + [X, V], J > dxdt + < \frac{\partial Y}{\partial t} + [Y, V], J > dt^2.$$

As it is shown in the work [3] the immersion function P can be defined as

$$P = \gamma_0 \phi^{-1} \phi_{\lambda} + \phi^{-1} M_1 \phi = \sum_{j=1}^{3} P_j f_j,$$

where M_1 is matrix function defined by λ, x, t . $f_j = -\frac{i}{2}\sigma_j$ is corresponding algebra basis, σ_j are Pauli matrixes and $[f_i, f_j] = f_k$. In this case, X, Y can be written

$$X = \gamma_0 U_{\lambda} + M_{1x} + [M_1, U], Y = \gamma_0 V_{\lambda} + M_{1t} + [M_1, V].$$

Let the matrixes X, Y, J have the forms

$$(2.2) X = \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix}, Y = \begin{pmatrix} b_{11} & b_{12} \\ b_{21} & b_{22} \end{pmatrix}, J = \begin{pmatrix} c_{11} & c_{12} \\ c_{21} & c_{22} \end{pmatrix}.$$

In this case elements of the matrix J are expressed through elements of the matrix X and Y in correspondence to the following formulas

$$c_{11} = \frac{a_{12}b_{21} - b_{12}a_{21}}{\mid [X,Y] \mid}, \quad c_{21} = \frac{a_{21}(b_{11} - b_{22}) + b_{21}(a_{22} - a_{11})}{\mid [X,Y] \mid},$$

(2.3)
$$c_{12} = \frac{b_{12}(a_{11} - a_{22}) + a_{12}(b_{22} - b_{11})}{|[X, Y]|}, \quad c_{22} = \frac{a_{21}b_{12} - b_{21}a_{12}}{|[X, Y]|}.$$

Then the first fundamental form (4) of the surface is $I = Edx^2 + 2Fdxdt + Gdt^2$, where

$$(2.4) \quad E = -\frac{1}{2}(a_{11}^2 + 2a_{12}a_{21} + a_{22}^2), \quad F = -\frac{1}{2}(a_{11}b_{11} + a_{12}b_{21} + a_{21}b_{12} + a_{22}b_{22}),$$

(2.5)
$$G = -\frac{1}{2}(b_{11}^2 + 2b_{12}b_{21} + b_{22}^2).$$

As example of the soliton equation leading to the immersion we consider nonlinear Schrodinger equation (2). In this case the matrixes U, V take the forms [5]

$$U=rac{\lambda\sigma_3}{2i}+U_0,\; U_0=i\left(egin{array}{cc} 0 & ar{q} \ q & 0 \end{array}
ight),$$

$$(2.6) \hspace{1cm} V = \frac{i\lambda^2}{2}\sigma_3 + i|q|^2\sigma_3 - i\lambda \left(\begin{array}{cc} 0 & \bar{q} \\ q & 0 \end{array} \right) + \left(\begin{array}{cc} 0 & \bar{q}_x \\ -q_x & 0 \end{array} \right).$$

The lemma is valid.

Lemma 2.1. The second fundamental form in the Fokas-Gelfand sense corresponding to the regular onesolitonic solution q of the nonlinear Schrödinger equation has the form

$$(2.7) II = Ldx^2 + 2Mdxdt + Ndt^2,$$

where

$$(2.8) L = -\frac{1}{2} \{ a_{11x}c_{11} + a_{12x}c_{21} + a_{21x}c_{12} + a_{22x}c_{22} - \lambda i(a_{21}c_{12} - a_{12}c_{21}) + \\ + iq(a_{12}c_{11} + a_{22}c_{12} - a_{11}c_{12} - a_{12}c_{22}) + i\bar{q}(a_{21}c_{22} + a_{11}c_{21} - a_{22}c_{21} - a_{21}c_{11}) \}, \\ M = -\frac{1}{2} \{ a_{11t}c_{11} + a_{12t}c_{21} + a_{21t}c_{12} + a_{22t}c_{22} + i(\lambda^2 + 2|q|^2)(a_{21}c_{12} - a_{12}c_{21}) + \\ + (q_x + \lambda iq)(a_{11}c_{12} + a_{12}c_{22} - a_{12}c_{11} - a_{22}c_{12}) + \\ + (\bar{q}_x - \lambda i\bar{q})(a_{11}c_{21} + a_{21}c_{22} - a_{21}c_{11} - a_{22}c_{21}) \}, \\ N = -\frac{1}{2} \{ b_{11t}c_{11} + b_{12t}c_{21} + b_{21t}c_{12} + b_{22t}c_{22} + i(\lambda^2 + 2|q|^2)(b_{21}c_{12} - b_{12}c_{21}) + \\ + (q_x + \lambda iq)(b_{11}c_{12} + b_{12}c_{22} - b_{12}c_{11} - b_{22}c_{12}) + \\ + (\bar{q}_x - \lambda i\bar{q})(b_{11}c_{21} + b_{21}c_{22} - b_{21}c_{11} - b_{22}c_{21}) \}.$$

Proof. We substitute the matrixes (6), (10) to (5). After some algebra we get (11), (12). The lemma is proved. \Box

3. Surface to a regular onesolitonic solution

We consider a particular case at $\gamma_0 = 1$, $M_1 = 0$. In this case we get

(3.1)
$$X = U_{\lambda} = \frac{1}{2i} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}, Y = V_{\lambda} = -i \begin{pmatrix} -\lambda & \bar{q} \\ q & \lambda \end{pmatrix},$$
$$J = \begin{pmatrix} 0 & -\frac{\bar{q}}{\sqrt{q\bar{q}}} \\ \frac{q}{\sqrt{q\bar{q}}} & 0 \end{pmatrix},$$

and $P = \phi^{-1}\phi_{\lambda}$. In order to calculate the explicit expressions for immersion function P we consider the regular onesolitonic solution of the nonlinear Schrödinger equation which has the form [4]

(3.2)
$$q(x,t) = 2\eta \frac{exp(-2i\xi x - 4i(\xi^2 - \eta^2)t - i\delta)}{ch[2\eta(x + 4\xi t - x_0)]},$$

where $x_0 = \frac{1}{2\eta} ln |\frac{m_{02}}{m_{01}}|$, $\delta = argm_{02} - argm_{01}$, $\xi = Re\lambda$, $\eta = Im\lambda$.

Theorem 3.1. Regular onesolitonic solution of the nonlinear Schrödinger equation corresponds to the surface in Fokas-Gelfand sense with the coefficients of the first fundamental form

(3.3)
$$E = \frac{64\eta^2(\xi^2 + \eta^2)}{(\lambda - \bar{\lambda})^4 ch^2 [2\eta(x + 4\xi t - x_0)]},$$

(3.4)
$$F = \frac{128\eta^2 \xi(\xi^2 + \eta^2)}{(\lambda - \bar{\lambda})^4 ch^2 [2\eta(x + 4\xi t - x_0)]},$$

(3.5)
$$G = \frac{256\eta^2(\xi^2 + \eta^2)^2}{(\lambda - \bar{\lambda})^4 ch^2 [2\eta(x + 4\xi t - x_0)]},$$

where $\lambda_1 = const.$

Proof. Solution of the linear system we find in the form

(3.6)
$$\psi = \phi e^{-\left(\frac{\lambda \sigma_3}{2i}x + \frac{i\lambda^2}{2}\sigma_3t\right)}.$$

Taking into account (16) and applying (10), we get

$$(3.7) \psi_x = (\frac{\lambda \sigma_3}{2i} + U_0)\psi - \psi \frac{\lambda \sigma_3}{2i} = \frac{\lambda \sigma_3}{2i}\psi - \psi \frac{\lambda \sigma_3}{2i} + U_0\psi = [\frac{\lambda \sigma_3}{2i}, \psi] + U_0\psi.$$

We take

$$(3.8) \qquad \psi = I - \frac{\tilde{A}}{\lambda - \lambda_1^*}, \ where \ \tilde{A} = \left(\begin{array}{cc} \tilde{a} & \tilde{b} \\ \tilde{c} & \tilde{d} \end{array} \right), I = \left(\begin{array}{cc} 1 & 0 \\ 0 & 1 \end{array} \right), \quad \lambda_1^* - const.$$

We substitute (18) to (17)

(3.9)
$$\psi_x = U_0 - \frac{U_0 \tilde{A}}{\lambda - \lambda_1^*} - \frac{1}{2i} [\sigma_3, \tilde{A}] - \frac{\lambda_1^*}{2i(\lambda - \lambda_1^*)} [\sigma_3, \tilde{A}].$$

On the other hand, from (18) it follows that

$$\psi_x = -\frac{\tilde{A}_x}{\lambda - \lambda_1^*}.$$

From (19) and (20) we get

(3.11)
$$-\frac{\tilde{A}_x}{\lambda - \lambda_1^*} = U_0 - \frac{U_0 \tilde{A}}{\lambda - \lambda_1^*} - \frac{1}{2i} [\sigma_3, \tilde{A}] - \frac{\lambda_1^*}{2i(\lambda - \lambda_1^*)} [\sigma_3, \tilde{A}].$$

Thus

(3.12)
$$\tilde{A}_{x} = U_{0}\tilde{A} + \frac{\lambda_{1}^{*}}{2i}[\sigma_{3}, \tilde{A}], U_{0} = \frac{1}{2i}[\sigma_{3}, A].$$

We note, that

$$[\sigma_3, \tilde{A}] = \sigma_3 \tilde{A} - \tilde{A} \sigma_3 = 2 \begin{pmatrix} 0 & \tilde{b} \\ -\tilde{c} & 0 \end{pmatrix}.$$

Then we substitute (23) to (7) and get

(3.14)
$$U_0 = \frac{1}{i} \begin{pmatrix} 0 & \tilde{b} \\ -\tilde{c} & 0 \end{pmatrix}.$$

Substituting (23) to (22), we get

$$(3.15) \qquad \left(\begin{array}{cc} \tilde{a}_x & \tilde{b}_x \\ \tilde{c}_x & \tilde{d}_x \end{array} \right) = \frac{1}{i} \left(\begin{array}{cc} \tilde{b}\tilde{c} & \tilde{b}\tilde{d} \\ -\tilde{c}\tilde{a} & -\tilde{c}\tilde{b} \end{array} \right) + \frac{\lambda_1^*}{i} \left(\begin{array}{cc} 0 & \tilde{b} \\ -\tilde{c} & 0 \end{array} \right),$$

From (10) and (24) we get

$$(3.16) i\begin{pmatrix} 0 & \bar{q} \\ q & 0 \end{pmatrix} = \frac{1}{i}\begin{pmatrix} 0 & b \\ -c & 0 \end{pmatrix} \Rightarrow \begin{cases} i\bar{q} = \frac{1}{i}b \\ iq = -\frac{1}{i}c \end{cases} \Rightarrow \begin{cases} b = -\bar{q} \\ c = q. \end{cases}$$

Therefore, we have found the matrix \tilde{A} in the explicit form with components (25). Using (14) we get

(3.17)
$$\tilde{a} = i2\eta t h[2\eta(x+4\xi t - x_0)] + c_1.$$

From (25) it follows that $\tilde{a} = -\frac{i\tilde{c}_x}{c} - \lambda_1^* \Rightarrow \tilde{a} = -\frac{1}{i} \int \bar{q}q dx$. Using (14) we get

(3.18)
$$\tilde{a}_x = \frac{1}{i}\tilde{b}\tilde{c} \Rightarrow \tilde{a}_x = \frac{1}{i}(-\bar{q})q.$$

Then

$$\tilde{a} = -\frac{iq_x}{q} - \lambda_1^*.$$

Consequently, taking into account (25), (26), we get

(3.20)
$$\tilde{d} = \frac{i\tilde{b}_x}{\tilde{b}} - \lambda_1^* \Rightarrow \tilde{d} = \frac{i(-\bar{q})_x}{(-\bar{q})} - \lambda_1^* \Rightarrow \tilde{d} = \frac{i\bar{q}_x}{\bar{q}} - \lambda_1^*.$$

From (25), (26) it follows that

$$\tilde{d}_x = -\frac{1}{i}\tilde{c}\tilde{b}.$$

Moreover, in view of (23), (31), we have

$$\tilde{d} = \frac{1}{i} \int q\bar{q}dx.$$

Taking into account (22), we get (28) in the form

$$\tilde{d} = -\tilde{a}.$$

Therefore,

(3.24)
$$\tilde{a} = -i2\eta t h[2\eta(x + 4\xi t - x_0)] + c_1.$$

Thus, the matrix \tilde{A} for regular one solitonic solution (14) of the nonlinear Schrödinger equation takes the form

$$(3.25) \quad \tilde{A} = \left(\begin{array}{cc} i2\eta th[2\eta(x+4\xi t-x_0)] + c_1 & -2\eta \frac{exp\{i(2\xi x+4(\xi^2-\eta^2)t+\delta)\}}{ch[2\eta(x-x_0+4\xi t)]} \\ 2\eta \frac{exp\{-i(2\xi x+4(\xi^2-\eta^2)t+\delta)\}}{ch[2\eta(x-x_0+4\xi t)]} & -i2\eta th[2\eta(x+4\xi t-x_0)] + c_1 \end{array} \right).$$

Then we take $\phi = I - \frac{A}{(\lambda - \lambda_1)^2}$, where λ_1 is constant, then from (13), we get

(3.26)
$$P = \phi^{-1}\phi_{\lambda} = (I + \frac{\tilde{A}}{\lambda - \lambda_1}) \frac{\tilde{A}}{(\lambda - \bar{\lambda_1})^2}.$$

On the other hand, we get

$$(3.27) P = \sum_{i=1}^{3} P_{j} f_{j} = -\frac{i}{2} \sum_{j=1}^{3} P_{j} \sigma_{j} = \begin{pmatrix} -\frac{i}{2} P_{3} & -\frac{i}{2} P_{1} - \frac{1}{2} P_{2} \\ -\frac{i}{2} P_{1} + \frac{1}{2} P_{2} & \frac{i}{2} P_{3} \end{pmatrix}.$$

From (36), (37) by (31) we get $P_3 = \frac{2i\tilde{a}}{(\lambda - \lambda_1)^2}$. With help of (33) we find P_3 in the explicit form for regular onesolitonic solution of the nonlinear Schrödinger equation

(3.28)
$$P_3 = -\frac{4\eta}{(\lambda - \bar{\lambda})^2} th[2\eta(x + 4\xi t - x_0)] + c_1.$$

From (36), (37) we get $P_2 = \frac{\tilde{c} - \tilde{b}}{(\lambda - \tilde{\lambda}_1)^2}$. Thus

$$P_1 = rac{i(ilde{c} + ilde{b})}{(\lambda - ar{\lambda}_1)^2}, \quad P_2 = rac{(ilde{c} - ilde{b})}{(\lambda - ar{\lambda}_1)^2}, \quad P_3 = rac{2i ilde{a}}{(\lambda - ar{\lambda}_1)^2}.$$

From (36), (14) using the well-known formulas

$$(3.29) \quad sh\zeta = \frac{e^{\zeta} - e^{-\zeta}}{2}; \ ch\zeta = \frac{e^{\zeta} + e^{-\zeta}}{2}; \ cos\zeta = \frac{e^{i\zeta} + e^{-i\zeta}}{2}; \ sin\zeta = \frac{e^{i\zeta} - e^{-i\zeta}}{2i},$$

where $\zeta = 2\eta(x - x_0 + 4\xi t)$, we obtain the values for the components P_1, P_2 of the matrix P

(3.30)
$$P_1 = \frac{4\eta \sin(2\xi x + 4(\xi^2 - \eta^2)t + \delta)}{(\lambda - \bar{\lambda})^2 ch[2\eta(x + 4\xi t - x_0)]},$$

(3.31)
$$P_2 = \frac{4\eta \cos(2\xi x + 4(\xi^2 - \eta^2)t + \delta)}{(\lambda - \bar{\lambda})^2 ch[2\eta(x + 4\xi t - x_0)]}$$

Then we calculate coefficients of the first fundamental form by formula

$$(3.32) E = P_{1x}^2 + P_{2x}^2 + P_{3x}^2.$$

We calculate the derivatives P_{1x} , P_{2x} , P_{3x} . The square of the first derivatives is substituted to (41), then

$$E = \frac{64\eta^2(\xi^2 + \eta^2)}{(\lambda - \bar{\lambda})^4 ch^2 [2\eta(x + 4\xi t - x_0)]}.$$

By the similar way, by the formulas

$$F = P_{1x}P_{1t} + P_{2x}P_{2t} + P_{3x}P_{3t}, \quad G = P_{1t}^2 + P_{2t}^2 + P_{3t}^2$$

we obtain the value

(3.33)
$$F = \frac{128\eta^2 \xi(\xi^2 + \eta^2)}{(\lambda - \bar{\lambda})^4 ch^2 [2\eta(x + 4\xi t - x_0)]},$$

(3.34)
$$G = \frac{256\eta^2(\xi^2 + \eta^2)^2}{(\lambda - \bar{\lambda})^4 ch^2 [2\eta(x + 4\xi t - x_0)]}.$$

Theorem is proved.

The surface can be written in the form

$$P_3 = (P_1, P_2).$$

Then from (38), (40a), (40b) we get

$$P_3 = -\frac{(\lambda - \bar{\lambda})^2 sh[2\eta(x + 4\xi t - x_0)]ch[2\eta(x + 4\xi t - x_0)]}{4\eta sin(2\xi x + 4(\xi^2 - \eta^2)t + \delta)cos(2\xi x + 4(\xi^2 - \eta^2)t + \delta)}P_1P_2.$$

Then we use possibilities of the editor Maple and construct the surface at some values of the parameters.

Remark 3.2. The short version of this paper was published in abstracts of the Third Dynamic Days in Central Asia, Nazarbayev University, Astana, Kazakhstan (September 02-05, 2016) [7].

4. Conclusion

Thus, we investigate Heisenberg ferromagnetic equation in (1+1)-, (2+1)-dimensions. As example, we have considered (1+1)-dimensional nonlinear Schrodinger equation. The first fundamental form with corresponding coefficients (15) is found for integrable surface corresponding to regular onesolitonic solution of the nonlinear Schrodinger equation with gravity.

References

- [1] M.J. Ablowitz, P.A. Clarkson, Solitons, Non-linear Evolution Equations and Inverse Scattering, Cambridge University Press, Cambridge, (1992).
- [2] R. Myrzakulov, S. Vijayalakshmi et all., A (2+1)-dimensional integrable spin model: Geometrical and gauge equivalent counterparts, solitons and localized coherent structures, J. Phys. Lett. A., Vol. 233A, pp. 391–396, (1997)
- [3] Ceyhan O., Fokas A.S., Gurses M., Deformations of surfaces associated with integrable Gauss-Mainardi-Codazzi equations, J. Math. Phys., Vol. 41, No. 4, pp. 2551–2270, (2000).
- [4] Makhankov V.G., Myrzakuov R., Riemann Problem on a Plane and Nonlinear Schroedinger Equation, In book "Communication of the Joint Institute for Nuclear Research," 5-84-742, Dubna, P. 6, (1984).
- [5] Zhunussova Zh., Geometrical features of the soliton solution, Proceedings of the 9th ISAAC Congress, Springer, Series: Trends in Mathematics, ISBN 978-3-319-12576-3, pp. 671–677, (2015).
- [6] Zhunussova Zh., Reconstruction of surface corresponding to domain wall solution, Proceeding of the forth International conference "Modern problems of Applied mathematics and information technologies, Al-Khorezmiy 2014," Samarkand, Uzbekistan, 15–17 September, P. 283., (2014).
- [7] Zhunussova Zh., Heisenberg Ferromagnetic Equation in higher dimensions, Abstracts of the third dynamic days in central Asia, Nazarbayev University, Astana, Kazakhstan, P. 28, (2016).
 - (Zh.Kh. Zhunussova) Al-Farabi Kazakh National University, Almaty, Kazakhstan Current address: 050040, Al-Farabi av., 71, Almaty, Kazakhstan E-mail address, Zh.Kh. Zhunussova: zhunussova777@gmail.com
- (L.Kh. Zhunussova) Abai Kazakh National Pedagogical University, Almaty, Kazakhstan

Current address: 050010, Dostyk st., 13, Almaty, Kazakhstan E-mail address, L.Kh. Zhunussova: khafizovna_66@mail.com

(K.A. Dosmagulova) AL-FARABI KAZAKH NATIONAL UNIVERSITY, ALMATY, KAZAKHSTAN Current address: 050040, Al-Farabi av., 71, Almaty, Kazakhstan E-mail address, K.A. Dosmagulova: karlygash.dosmagulova@gmail.com